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10.2.47 The graph of the given equation is an ellipse. Find the distance between the x-intercepts and the
: distance between the y-intercepts. Decide which distance is longer. How much longer is the longer
distance than the shorter distance?

2 2
LS
4 49

Detormine which distance is longer.

. distance between the x-intercepts
W  distance between the y-intercepts

How much longer is the longer distance than the shorter distance?
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10.2.61 A planet's orbit about the a certain star can be described as an ellipse. Consider this star to be the
- origin of a rectangular coordinate system. Suppose that the x-intercepts of the elliptical path of the
‘ planet are + 150,000,000 and that the y-intercepts are £ 135,000,000. Write the equation of the
elliptical path of the planet.
The eliptical path of the planet is i + i =1,

Sketeh the given nformation:
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